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A woman walks up an incline plane
, pulling a

spool
.
At what speed does the sped follow ? ?

Solution : Nato and of =voe

Let find w : To =rI+ ENID ( rigid body )
v. a = E + I WE )x(3Rj)=→wRc

=D w= -

~o3R

Now vT= # + utxrac =

f¥r¥×(2Ry)=}ue
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ten Solution We know that

Ta
,
=TAz

From D± Ira
,

= WTXFda,= (0.3k
)X(

4. satay )
-

:

= - 2.7€ +1.355 =VIz

IF:w€E.it#I=w*.=E3xrIstWsxrrsA-Z.7d+l.D35f=(w3I)xtRet5g)-lwzI)xf5j

)

Solving: wz= - 0.653 radlsec
w3 = -0.113 radlsec
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As before we have that To==rA=o=Dv==ExrI
.
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he )×( ran ) to£IED
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outside :

PIEKOSMI = - ref

to = rweitwxrse


